PINOOOZILOO insraLLaTION INSTRUCTIONS — UNIVERAL MOUNTING FEED LOCATION Rev. E 1/2024 pEEI'lESS@
These installation instructions are for installing the F1 Mounting Kit at FEED Location.

CAUTION: IT IS CRITICAL THAT SUPPORT LOCATIONS ARE LOCATED ACCURATELY. WE RECOMMEND THAT A LASER DEVICE BE USED TO LINE UP THE SUPPORT LOCATIONS ON FIXTURES
HAVING MORE THAN ONE SECTION. IF NOT ALIGNED PROPERLY, A NOTICEABLE “BEND” MAY BE APPARENT WHEN VIEWED FROM THE END OF THE RUN.

WARNING: RISK OF FIRE AND ELECTRICAL SHOCK. THIS PRODUCT TO BE INSTALLED ONLY BY A QUALIFIED ELECTRICIAN.
NOTE: THIS MOUNTING ASSEMBLY IS UL AND C-UL LISTED WITH THE LUMINAIRE (UL FILE E61711).

BRACKET A

A) Parts Not Provided by PEERLESS page 1 #10 SCREW
B) On-Grid Installation pages 1-2 BRACKET B @ >
C) Oft-Grid Installation pages 3-4 o | . 0l
‘ CEILING GRID AT CEILING MUST BE LEVEL
D) Bolt and Nut Selection page 4 £ i OR <=10° SLOPE
; ol S RN STRAIN RELIEF
Ya-20X3/4” BOLT OR ;,
A) Parts Not Provided by PEERLESS
Depending on ceiling mounting type, contractor must obtain some ®)
Or all of the following parts to complete installation (see parts list): ORI Ny
4” square x 1 V2" deep J-box with 72" knockout on middle of all side. CANOPY _
: #10 THREAD
J-bOX cover and screws. \; CUTTING SCREW
OR [ e | BLACK BUSHING
1A1—20 steel zinc plated hex head bolt (see Section D for bolt length). apusTABLE 7 W \ o e
CABLE i
”””” ' CORD

Caddy Bar (CADDY #512A or equal) for Off-Grid Mounting (see page 3).

FIXED CABLE

-
(('qcu’tyBrandSm © 2024 Acuity Brands Lighting Inc. All Rights Reserved. Products in this document may be cover by one or more U.S. Patents and Patents Pending. Specifications subject to change without notice. Limited warranty applies.
Complete warranty terms located at www.acuitybrands.com/support/warranty/terms-and-conditions



http://www.acuitybrands.com/support/warranty/terms-and-conditions

P I N OOO 1 OO INSTALLATION INSTRUCTIONS — UNIVERAL MOUNTING FEED LOCATION

Rev. E 1/2024

Peerless

B) ON-GRID INSTALLATION STEPS:

Bend tabs straight if there
is interference with grid

1. Insert bolt into bottom hole
of the Bracket A. Then hook
Bracket A onto T-bar grid.

\

Structure :
Wires !

For Recessed Grid
Only (See Section D)

2. Hook Bracket B onto Bracket A.

3. Adjust brackets to proper

location then screw the brackets
from A to B together. Secure the
brackets to the structure above.

\ Bracket A

Strain Relief

S ;[‘T:;..-r-"’ 1/2 White bishing

-

5B. For dual feeds, hand first J-Box
with long screw on the bracket A.
Take center knock-out on the
second J-Box. Screw second J-Box to
bracket B. Then add nut to connect
two boxes together.

SAcuityBrands.

6. Insert feed cord into J-Box
through bushings and canopy.
Apply strain relief on the cord.
Bushing can be omitted if the cord
is too large to fit into the bushing.

7. Connect wires and install the
cover to J-Box with screws.

4. Attach black bushing and conduit 5A. Hang J-Box assembly on

fitting to j-Box.

bracket A tab. For single feed, screw
J-Box to brackets.

8. Place canopy flush with ceiling
tile. Thread cable retainer onto
bolt no less then %”.

Adjustable Cable Option

1. Attach adjustable cable gripper (ACG)

~'.';ri|:»perj
Fixture

3. Press cap nut
insert

2. Un—screw the —=— down to ~
——— cable or adjust
cap to the top. fixture height.
Note: 4. Finger tight the
Insert cable while cap nut after
supporting weight adjustment.
of the fixture.

IMPORTANT

Do NOT insert cable mto ACG prior to ACG
being attsched to focture. Twisting the cable
could cause gripper to become loose.

© 2024 Acuity Brands Lighting Inc. All Rights Reserved. Products in this document may be cover by one or more U.S. Patents and Patents Pending. Specifications subject to change without notice. Limited warranty applies.
Complete warranty terms located at www.acuitybrands.com/support/warranty/terms-and-conditions


http://www.acuitybrands.com/support/warranty/terms-and-conditions

P I N OOO 1 OO INSTALLATION INSTRUCTIONS — UNIVERAL MOUNTING FEED LOCATION

Rev. E 1/2024

C) Off-Grid Installation

BRACKET A
#10 THREAD CUTTING SCREW

‘ 4” SQUARE X 1-1/2" J-BOX

STRAIN RELIEF

#10 THREAD
CUTTING SCREW

BRACKET B

¥-20X3/4” BOLT OR (A3
%-20 NOT

CEILING GRID
CANOPY

ADJUSTABLE CABLE

GRIPPER SET BLACK BUSHING

CONDUIT FITTING
WITH LOCK NUT

CORD

WHITE BUSHING

FIXED CABLE
ASSEMBLY

<<AcuityBrands.

Complete warranty terms located at www.acuitybrands.com/support/warranty/terms-and-conditions

OFF-GRID INSTALLATION STEPS:

1. Insert bolt into Bracket A.
Hook Bracket B onto Bracket
A. Secure with nut (DO NOT
TIGHTEN).

\

Structure E

3. Adjust brackets to proper

location then screw the brackets
from A to B together. Secure the
brackets to the structure above.

Peerless

Upper slots

2. Slide hanger onto Caddy Bar
and fit Caddy Bar into upper slots
in bracket.

4. Attach black bushing and
conduit fitting to J-Box..

© 2024 Acuity Brands Lighting Inc. All Rights Reserved. Products in this document may be cover by one or more U.S. Patents and Patents Pending. Specifications subject to change without notice. Limited warranty applies.


http://www.acuitybrands.com/support/warranty/terms-and-conditions

P I N OOO 1 OO INSTALLATION INSTRUCTIONS — UNIVERAL MOUNTING FEED LOCATION

Rev. E 1/2024

Peerless

Grounding
Screw Hole

5A. Hang J-Box on bracket A tab.
For single feed, screw J-Box to
bracket.

5B. For dual feeds, hang first j-
Box with long screw on bracket
A. Take center knock-out on the

second J-Box. Screw second J-Box

to bracket B. Then add nut to

Strain Relief

6. Insert feed cord into J-Box
through bushing and canopy.
Attach strain relief on the cord.
Bushing can be omitted if the
cord is too large to fit into the

| =

7. Connect wires and install the
cover to J-Box with screws.

connect two boxes together. bushing.
D) Bolt and Nut Selection
ON—-GRID OFF—=GRID
TYPICAL GRID & TILE TYPE 1/4=20X3/4" 74=20 - 1/4-20X3/4" 74=20
HEX BOLT HEX BOLT 1/4-20 HEX BOL HEX BOLT 1/4-20
B<5/16 B>5/16 HEXNUT oc15" & Bg5/16"|A>1.5" OR B>5/16"| HEX NUT
TYPE 1
3 ,“ 2 Use proper Bolt
%5 : 2 YES NO YES length to meet | vgg
: | min. 1/4
engagement
Use proper Bolt Use proper Bolt
length to meet YES length to meet YES
YES min. 1/4" YES min, 1/4"
engagement engagement
Use proper Bolt
YES NO YES length to meet | ygg
min. 1/4
_ engagement
— /16" max

SAcuityBrands.

8. Place canopy flush with
ceiling tile. Thread cable retainer
onto bolt no less than %",

© 2024 Acuity Brands Lighting Inc. All Rights Reserved. Products in this document may be cover by one or more U.S. Patents and Patents Pending. Specifications subject to change without notice. Limited warranty applies.
Complete warranty terms located at www.acuitybrands.com/support/warranty/terms-and-conditions



http://www.acuitybrands.com/support/warranty/terms-and-conditions

PINOOOS50O0 instaLLATION INSTRUCTIONS — UNIVERSAL MOUNTING NON-FEED LOCATION Rev. C 1/2024 Peerless
These installation instructions are for installing the F1 Mounting Kit at NON-FEED Location.

CAUTION: IT IS CRITICAL THAT SUPPORT LOCATIONS ARE LOCATED ACCURATELY. WE RECOMMEND THAT A LASER DEVICE BE USED TO LINE UP THE SUPPORT LOCATIONS ON FIXTURES
HAVING MORE THAN ONE SECTION. IF NOT ALIGNED PROPERLY, A NOTICEABLE “BEND” MAY BE APPARENT WHEN VIEWED FROM THE END OF THE RUN.

WARNING: RISK OF FIRE AND ELECTRICAL SHOCK. THIS PRODUCT TO BE INSTALLED ONLY BY A QUALIFIED ELECTRICIAN.
NOTE: THIS MOUNTING ASSEMBLY IS UL AND C-UL LISTED WITH THE LUMINAIRE (UL FILE E61711).

A) Parts Not Provided by PEERLESS page 1
B) On-Grid Installation pages 1-2 —#10 thread cutting screw
Broacket /
C) Off-Grid Installation pages 2-3 e
Brocket B—\\ ©
D) Bolt and Nut Selection page 3
Ad justable Cc|b|e Option
[:Piliﬁg [:y-id —_h Attach adjustable cable gripper (ACG)
A) Parts Not Provided by PEERLESS (@) or 1/4-20x3/4" Bolt—

Depending on ceiling mounting type, contractor must obtain some

Nut (for recessed grld only) —
Or all of the following parts to complete installation (see parts list):

Canopy —_
1 . .
@ /a-20 steel zinc plated hex head bolt (see Section D for bolt length).
Cable Stud
Caddy Bar (CADDY #512A or equal) for Off-Grid Mounting (see page 3).
DOI\DT e A\—u) - or to ,at‘e
((chu’-tyBrandSm 2024 Acuity Brands Lighting Inc. All Rights Reserved. Products in this document may be cover by one or more U.S. Patents and Patents Pending. Specifications subject to change without notice. Limited warranty applies.

Complete warranty terms located at www.acuitybrands.com/support/warranty/terms-and-conditions



http://www.acuitybrands.com/support/warranty/terms-and-conditions

P I N OOOS OO INSTALLATION INSTRUCTIONS — UNIVERSAL MOUNTING NON-FEED LOCATION

Rev. C 1/2024 Peerless
B) ON-GRID INSTALLATION STEPS:
¢ e Feres L s 1@_;
] o
- |
B 1447 MIM, J
- ;}:m
=

(see Sectlon I r

1. Insert bolt into bottom hole of
bracket A, then hook bracket A onto
grid.

2. Hook bracket B onto bracket A.

C) OFF-GRID INSTALLATION:

1. Parts Not Provided by PEERLESS

@%—20 steel zinc plated hex head bolt (see Section D for bolt length).

Caddy Bar (CADDY #512A or equal) for Off-Grid Mounting.

$AcuityBrands.

3. Adjust brackets to proper location,
then screw the brackets together.
Secure the brackets to the structure
above.

4. Place canopy flush with ceiling tile.
Thread cable retainer onto bolt (no less
than %”).

Bracket B

@ OR 1/4-20x3/4" Bolt

Canopy

Bracket A

#10 thread cutting screw

Cable Stud

Complete warranty terms located at www.acuitybrands.com/support/warranty/terms-and-conditions

© 2024 Acuity Brands Lighting Inc. All Rights Reserved. Products in this document may be cover by one or more U.S. Patents and Patents Pending. Specifications subject to change without notice. Limited warranty applies.


http://www.acuitybrands.com/support/warranty/terms-and-conditions

P I N OOOS OO INSTALLATION INSTRUCTIONS — UNIVERSAL MOUNTING NON-FEED LOCATION

Rev. C 1/2024

Peerless

2. OFF-GRID INSTALLATION STEPS:

upper slots

R.s
A
£

1Lt
[lfﬂl' MIM,

1. Insert bolt into Bracket A. Hook

Bracket B onto Bracket A. Secure with

nut (Do not tighten).

D) Bolt and Nut selection

2. Slide hanger onto Caddy Bar and fit
Caddy Bar into Brackets upper slots.

3. Adjust Brackets to proper location, then
screw Brackets together. Secure Brackets

to the structure above.

L———l— 916" MAX.

ON—-GRID OFF=GRID
TYPICAL GRID & TILE TYPE T74=2053/%" 1{4_20 R 722053/ T73=70 ”
Ex BOLY HEX BOLT 1/4-20 HEX BOLT HEX BOLT 1420
B<5/16 B>5/16 X NUT aci15" & Bg<5/18"[A>1.5" OR B>5/16"
TYPE 1
0 Use proper Bolt
& " YES NO YES length to meet | ygg
min. 1/4
f—=t 15/16* MaX. engagement
Use proper Bolt Use proper Bolt
length to meet YES length to meet YES
YES min. 1/4" YES min, 1/4"
engagement engagement
Use proper Bolt
S/167 MAX. YES NO YES Ieng.th to rrjeel YES
min. 1/4
engagement

$AcuityBrands.

4. Place canopy flush with ceiling tile.
Thread cable retainer onto bolt (no less

than %”).

© 2024 Acuity Brands Lighting Inc. All Rights Reserved. Products in this document may be cover by one or more U.S. Patents and Patents Pending. Specifications subject to change without notice. Limited warranty applies.
Complete warranty terms located at www.acuitybrands.com/support/warranty/terms-and-conditions



http://www.acuitybrands.com/support/warranty/terms-and-conditions

	PIN000100
	Slide Number 1
	Slide Number 2
	Slide Number 3
	Slide Number 4

	PIN000500
	Slide Number 1
	Slide Number 2
	Slide Number 3


